—ﬁrsﬁ Bt I FR=C1
(-
%i%gug& IR E =
=] 8
O —kFrEs LI ] =
O =k FhEs
BEL B B
\D BxE  [JE%E2 ) N
RBEI 5k Fihp =
BARET—5 S3&(m) K& (ke) BMI
FHBSTMh oS
AR ST oS
L —
SEMEET =Y mE g Six
IR #HBE T oS (== BRI SIS (== ==
mn |OED k g Kg
zun  |QREENARIE cm cm
#/S> 2| QRIIRA RIIH ) )
B8N | @DDmMBTT i) )
e di= ®Timed up and go test b i
gnNsY2|OFRT 2 ~ cm cm
EEEREOL —¥F —F vy — b MiE 7
— T meS 2
—e— SRS ‘.
©FR> A} 2 @ 5 R H R
1
®Timetjet;lz and go /@I’#JEEH‘EEE
@5m#E&H1T
£iEEET — 4 HEAT TS - e ] s
BEZSDIRRE @ @
fix VAS fix VAS
17> YL Kiii
iE VAS iE VAS
ADLT R~ 253 mmd =} =}




